From the section 5.2.4.2 in TS36.304, the following measurement rule is applied in LTE:
	· Following rules are used by the UE to limit needed measurements:
· If the serving cell fulfils Srxlev > SIntraSearchP and Squal > SIntraSearchQ, the UE may choose not to perform intra-frequency measurements.
· Otherwise, the UE shall perform intra-frequency measurements.



UE power class has only an impact on the calculation of Srxlev, then we focus on this value hereafter. From the section 5.2.3.2 in TS36.304, Srxlev can be calculated by the following equation:

	Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset) – Pcompensation - Qoffsettemp,


where 
	Qoffsettemp
	Offset temporarily applied to a cell as specified in [3] (dB)

	Qrxlevmeas
	Measured cell RX level value (RSRP)

	Qrxlevmin
	Minimum required RX level in the cell (dBm)

	Qqualmin
	Minimum required quality level in the cell (dB)

	Qrxlevminoffset
	Offset to the signalled Qrxlevmin taken into account in the Srxlev evaluation as a result of a periodic search for a higher priority PLMN while camped normally in a VPLMN [5]

	Pcompensation 
	If the UE supports the additionalPmax in the NS-PmaxList, if present, in SIB1, SIB3 and SIB5:
max(PEMAX1 –PPowerClass, 0) – (min(PEMAX2, PPowerClass) – min(PEMAX1, PPowerClass)) (dB);
else:
max(PEMAX1 –PPowerClass, 0) (dB)

	PEMAX1, PEMAX2
	Maximum TX power level an UE may use when transmitting on the uplink in the cell (dBm) defined as PEMAX in TS 36.101 [33]. PEMAX1 and PEMAX2 are obtained from the p-Max and the NS-PmaxList respectively in SIB1, SIB3 and SIB5 as specified in TS 36.331 [3].

	PPowerClass
	Maximum RF output power of the UE (dBm) according to the UE power class as defined in TS 36.101 [33]



For the sake of simplicity, we assume SIntraSearchP, Qrxlevminoffset and Qoffsettemp are set to 0 dB. In this case, Srxlev can be simply calculated as follows. 
	Srxlev = Qrxlevmeas – Qrxlevmin – Pcompensation



When assuming that both PC2 and PC3 UEs are in the network and the cell coverage is planned for PC3 UE (i.e. 23dBm), Srxlev values for PC2 and PC3 UEs in the different locations (location A and B) are shown as follows. Note that it is assumed that the network signals Pmax = 26dBm and Qrxlevmin=-124dBm. It is also assumed that the cell edge for PC3 is Qrxlevmeas = -124dBm.
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Fig.1 Srxlev values for PC2 and PC3 UEs in the different location (Qrxlevmin=-124dBm)

From Fig.1, we can see that PC3 UE in the location A needs to perform intra-frequency measurement even though the UE is in the coverage of BS#1. To address this, the network can signal Qrxlevmin=-127dBm as follows.
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Fig.2 Srxlev values for PC2 and PC3 UEs in the different location (Qrxlevmin=-127dBm)

In this case, the issue for PC3 can be resolved. On the other hand, PC2 UE in the location B may not perform intra-frequency measurement for BS#2 even though BS#2 is optional cell in this case. 
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